
 Translating a sentence by using an inequality symbol: Worksheet 
1.3 

      

 

  Name ……………………………… Date ………………………………  Score ………………………………… 

Write an inequality for each of the following statements 

1. −11 is less than w 

2. c is greater than or equal to −41 

3. −g is greater than 79 

4. k is less than or equal to −40 

5. f is less than 23 

6. q is greater than or equal to 55 

7. 36 is less than s 

8. t is greater than or equal to 17 

9. 18 is greater than p 

10. 34 is less than or equal to d 



Solutions: Worksheet 1.3 

 

 

 

 

1. −11 < w 

2. c ≥ −41 

3. −g > 79 

4. k ≤ −40 

5. f < 23 

6. q ≥ 55 

7. 36 < s 

8. t ≥ 17 

9. 18 > p 

10. 34 ≤ d 

 

 


